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1. ROFERZMT. (SH30, AR5, B2, C#H3530%)

(1)  22-256=0 (2) 22 = %
(3) 222=100 (4) 2522 =1
(5) 2522 -169=0 (6) 522-6=0
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2. ROGBRZMBF. (SHK308, Afs5#, B2, C#H%3330F)

1 2_144=0 2_ 25
(1) €T (2) T 16
3) 322 =81 (4) 4922 =1
(5) 4922 — 225 =0 (6) 322 -8=0
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1. ROFERZMT. (SH30, AR5, B2, C#H3530%)

(1) 22-256=0 (2)  22= 3
2% = 162 —1
3
xr =116
3) 222 =100 (4) 2522 =1
22 =50 <=2 22 = 215 T =+ 25
5
T = +52
¢ V50 = /52 x 2
(5) 2522 —169 =0 6) 5x2—-6=0
2522 = 169 522 = 6
2 = 169 [l + 25 2?2 = 6 i +5
25 5
13
NG
Y137 = 169 oo L VEXVE
V5 x V5
xr = :I:%
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2. ROGBRZMBF. (SHK308, Afs5#, B2, C#H%3330F)

(1) 22-144=0 () 2-25
16
22 =122 z=+2
4
r =112
Yo 122 = 144
(3) 322=381 (4) 4922 =1
2 =27 —lid =+ 3 2 = 419 <l = 49
T = +/27 =41
7
xz=13V3
(5) 4922 —-225=0 (6) 322-8=0
4922 = 225 322 =8
22 = 225 i+ 49 2= 8 <l = 3
49 3
— 415

Yo 152 =225 T ==
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